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MY HEESAUNA(XAN)
Sl TS YUK S CERED
- _ — d =
SN EA(SA) - MEAY - BES 0l &t o il Bl R &2
O ne2ge 2o
27,520,000 * 1.50/100 413
O MMBER 223
27,520,000& * 4.00/100 1,101
201 £B-2dH| 56,818 56,558 260
02 =224l 56,818 56,558 260
0322232 & HA 28,514
O TsXA 80,000& * 3O 240
O st ZAM=E 50,0002 * 3CH 150
O #FMNERSY sXE) 400
RPN 50,000& = 23| 100
At 150,000& * 23] 300
O AR 4 A2l 1,4503 = 364 = 120 6,264
O =Xz = 1,450& = 154 = 120 2,610
O HusIIH(SSE)
1,450 = 1,300 =* 108 18,850
O A& &l =Xl 5,304
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O &#&EX 110,000& =+ 43| 440
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